Name: kc’z{

8" Grade — Test 1
9/23/2016

CD 1) The letter in an equation is always the v 5bie. .

2) For the following expression: 3 * 3
a) Write it using exponents 3~
@ b) How do you say it with an exponent? 3 Sf‘WGe/

c) What is the second way of saying it? 2 o 4. > el Piner
3) Write the following in words.
a)5x—3 b)2/x
@) S Flmes & mipus 3 2 dicidel b x
)2+ (x—7) d)3-9+x

D fimes  He diffedace ot x .
4) What is the order of operations? “d 7 5 minas U diciolol é:,, +

@ (weatheses, capeaeats, maliply ik, Al supp, 4.

5) Evaluate the expression: [3% — 23]« 5 — 4«8

3 (4-5] s34
=32 = -27.
6) Evaluate the following absolute values:

@ -4 Y b -11+9 &
ol2l d)-91-6 3

7) Find the difference of the following expressions:

a7-12 ~¢ b) =3¢+ (+9) (
)16+ (414) 3, d)y—-5-3 —g
8) Find the sum of the following expressions:
) a) =27+ (-16) —y3 b)-106+10  —7(
@ Q) =9 +12 +(—4) © d) 54 + (—28) + 23

- 11.



9) Evaluate the following expressions fora = 10 and b = —5.

(/4 - e
@ a) g+ (-23) —I3 D-p—f ~g
"'5' 'fo —_
10) Find the change in temperature, elevation, and speed.

. a) From —20°C to 50°C b) From 120ft to 12001t

7y I logo it
c¢) From 10°F to — 11°F d) From 20mph to 65mph

-2 °F Wonph.

11) Put the following numbers on a number line.
.0 —14,10,-7,5,6,—-20,0,-15

@ ey F i j : £ }
L S r
e s Y <7 o g4 o

12) State the opposite of the number. o
O a) —94 7Y b)1z -1

c)14 -y d)-21 D

13) Evaluate the expression whena = —5and b =7

atll ¢ b) a[(b — a)? + 5]

@ ) = ' =745~

0 20a d) 10a — ab

13+b  ~ 5 : s

14) Use the following graph to plot and label the points:

@ A(—1,5) B(2,-3) €(0,2) D(4,3) -L
At
)
. . j(@

15) What quadrant is each letter in:

a) IT
@ b) I2 _

)bl T -




Name: k@/ ]
8" Grade — fest 2

10/18/2016
1) Simplify the following expressions by combining like terms.
v a)5x+ 10y + 7y —12x b) 4x + 6x — 10x?
@ y ~IXHTy : [0y 10y A
¢)—2x+11+10x d) —20x — 10x
Ex +1{ —30y
2) Match the following equations with the properties they represent.
D ax*b=bxa A) Identity Property of Addition
E lxx=x B) Distributive Property
@ £ (ab)x = a(bx) C) Commutative Property of Addition
C a+b=b+a D) Commutative Property of Multiplication
A x+0=x E) Identity Property of Multiplication
'5 a(b+c)=ab + ac F) Associative Property of Multiplication

3) Write the following in words.

a)x+5=6){ plus 5 5 £ b) 8x = -9 & Foes ¥ i -
=20 d)7 —x =4
2 N ‘ 1 - r
X o{m";(ea( é/./ A is AU 7 miaus ¥ 3 Y
4) Translate the following into EQUATIONS:
@a) The quotient of 12 and y is 15 b) The sum of 5 and x is 20
1) -:—)/ =3 [ ShEx =20

5) Given: 15x — 7 + 20x fill in the following table.

@ Terms: | Coefficients: | Constant Terms: | Like Terms: | Simplify the expression:

15%)-7 d0x| Je 1S, o -7 (Sx, 2o | 36 =7

6) Solve the following equations. Show ALL your work!

— — ?("""( &
a)x#)_/*r Ez b)x +8—-9 =120 ! %}

¢) 4x + 24 d) 7x — 5x = —18 53]
9% L,
Z/v:£7 2x F-18

ER Y



5

7) You have a rectangle with a length of 15 ft and width of x ft. ' y
a) Draw a picture to represent this.

LS
b) If you need the area to be 45 ft?, what does x have to be?

Cxets

8) Matthew is building a triangular pen for his three pigs so he ga:n tie each one in a corner. He
wants Waldo (currently missing) to be 8 yds away from Bambi. He needs Bambi to be 9 yds
away from Skunky (he stinks). If Matthew only has 24 yds of fence, how far away are Waldo

and Skunky? i
nd Skunky 8’ %q
ST 6

9) Evaluate the following expressions for the given values.

a)6x+ 7y —2x;usex = landy = —3 by —x + 4(y — 3x);usex = 20 and y = 10
c0 +763) =) = ¢ -2l -) 5FT7) A0 Y (o0 -30(39) _ =20 =0
10) Use the following graph to plot and label the points: Cw__}g“’) “X26
A(1,-5) B(—2,-3) C(3,0)
D(3,5) )
T
11) What quadrant is each letter in: o
a) T¥
b o
©) Bfur T 01t .
dT

O 12) a) What are the two things required to have like terms? The same _/e7/fe~ and

exlerents
b) The letter in an equation is always the __ variab f.




Name: K e/
8" Grade —Test 3
11/22/2016

1) What are all the steps to solving any algebra problem?
. a) Gg,-,c-— rfc{ &c percea theses,
@ b) Com&r'ﬂé l/'ke ey,

C) Move.  vvnt ble do  Ore

d) PEMPAS
 p—

5}(,[-'1 .

2) Solve the following equations.

a)3x+81'=12 b)—=—15% 10
I 2 b g [
St 4 -

¢) >+ 30+ 25 d)4x — 20 =+ 16
2_?}'} Fao |1ae

‘in"c? =

) 1 9

3) Solve the following equations. Be sure to show all your work!
XA YX~y =1y

S e
6(x+7)—4=14 - =iy xX=6 . -~
@ v S e =160 XLSE
< -

G=-21 (5=~
) 4(x—4x)=8(45+10) © ¢ —

XX = §360 450

~ldx =YY
—Ix T
A
. X=307 .
4) Write an inequality for the following graphs.
a)

& =

10

X &l X Z=7
5)
\ a) Which side should the variable always be on to properly graph an inequality? led 't
2 b) When you multiply or divide by a __ 1 ot _, YOU have to _¢,./4cth.  the inequality

sign.



6) Graph the following inequalities.

@ a) x = —10 . ’b)20>x X206 o>

—lo 20
7) Write the following in words. Do NOT solve it.
@ a)2x—5>—10 D)6+:=—4 G plus y diods! éy 3
A Fhzs X miaus § goeate: thag Feeater  than o cgan) —
)9 +1<—6 S e, d)74+x<8 '
7 //us x i3 less g, o
Ubine X plas | ¥ less than ~£. Crual Ao &

8) Solve the following inequalities for the given variable and graph your answers. Be sure to
show all your work!

4 x

. —5>12 x .
@ a)iLLtSL &;9\;5%} b)3 < 11113 X< 3352 %
X> 17 532
c) 6x < 108 ‘d)x+926
6 < g 7 E——Prirr>

Y= 15 (g x2S d
9) Solve the following inequalities for the given variable and graph all your answers. Be sure to
show all your work!! Leave your answers in the simplest fraction form.

/1)) a)-3x—-4<19 X2 =23 15,3 _
® T PN L A< <>
' e 2B 23,
c)z—8>25 d)5x—11>0
_t ity vy
545335 € zéi A Sxz Il Xz5s ghesn
X216 ° 5= 5 “

10) Solve the following inequalities for the given variable and graph your answers if you can. Be
[ sure to show all your work!!! Leave your answers in the simplest fraction form.

SxHlo +] £ 7-5y
a)—3(4m+21) = =36 b)5(x+2)+1<7—5x
~[Xnt (3 2 ~3 ’ 5y Sy
tc3  ©~1-5x > —3x—2x ‘d)-(6x+6)—551—6x ,
_— ox i <7
~1 =S > =5 “Cx-(-s< Ly i
Tam 227 Fsx +5x u

B
e - | - N




Name: ked
9/2/2016
8 Grade Quiz

1) Evaluate the expression: 2 * 5 — 4 + 2
0 Q

3

2) Evaluate the variable expression for x = 2.
x2+5—4x
Y +$~¢

@

3) The letter in an equation is always the - u bl

4) Simplify the following expression: [3%7 —2%] *5 — 4 % 8
-

is“* 34 :@

5) For the following expression: 2 * 2 * 2
a) Write it using exponents 27 ,
b) How do you say it with an exponent? X Cctfeef

¢) What is the second way of saying it? At the ﬁtirz{ it

6) Give two different ways of saying the expression: x + 3

) X pls 3
b) 3 wbll i
Bonus: Who am I, who am I married to, what do 1 do, and where do I live? @
ﬂbéM}z Ao one Aoth) o where, .
7 &I ey




Name: K‘e_,l/

9/8/2016

8" Grade Quiz

1) Give two different ways of saying the expression: 3 * x
a) 3t ines X

b) 3 multplisd by X

2) Evaluate the expression: (3-472)% — 6 * 3
s

25—l ’-@

3) Simplify the following expression: (2 +8) +5+7 %9
(o '3

o o+ 63 =g

4) The letter in an equation is always the W;f!:zé{f.--

5) Simplify the following expression: [3% —22] + 9 — 3 % 8
-4

Soq —2H
6) For the following expression: 3 * 3

YUST=2M =
a) Write it using exponents 3>

b) How do you say it with an exponent? 2 :’;fmuz,/
¢) What is the second way of saying it?




Name: ’T ey
9/16/2016 /
8" Grade Quiz

1) Give two different ways of saying the expression: 3 — x
a) S mings X

by 3 dake cdeap X

2) _

a) Evaluate: |—2| + 3 S

b) What is the opposite of negative five? S~
c) Use either a less than or greater than sign to show which number is bigger: —2 < 7

3) Evaluate the variable expression for x = 3.
2x% —7x + 14

7
L1y

=304 [0/

4) Simplify the following expression: (w +~3—-7%9
R=3-c3
U—¢y

5) Put the following numbers in order on a number line: 1,—-2,0,8,9, -3

-3 h«)\ ¢, g q
6) Simplify the following expression: [,2‘2/— 32]*9—-5%8

-1 ~Ho
=)

~ts-y =97 [55
|



Name: K €5/
9/30/2016 ¢

8™ Grade Quiz

1) What property is shown for each of the following equations?
aatb=b+a (ommu )ld‘f*/\f( J/rr',ﬂ “‘p (+)

b) (ab)x = a(bx) aSSeciatre [¥ of (X)
)x+0=x Héﬂf*r‘f)/ i - @’)

2) Use the distributive property to simplify the following:

a) 6(x + 2) b) —2(x — 3)
Ex X —AXT1E .
3) Evaluate the following expressions for the given values. -
a)bx+ 7y —2x;usex = —landy =3 b)—2x+ 7y —2x;usex =—landy =3
6 42 Hd 2421 +2

4) The area of a rectangle is A = [ * w. What is the area of a rectangle whose sides are 40 and x — 57

(4 ;7 Yox ~200

5) Do the following unit conversions
a) 4miles to feet b) 360sec to minutes

xSage () (264, ce
6) What quadrant is each letter in:
A(1,-5) B(-2,-3)
Tz Jr-

ceo0 L D(—4,3)
Yo Jerw I




Name: !\eu/
10/7/2016  /
8™ Grade Quiz

1) Given: 15x + 7 — 20x fill in the following table.

Terms: Coefficients: | Constant Terms: | Like Terms:

Simplify the expression:

iS—X‘, 2, iy [5‘ - 7 ISy ~Xeox —Sy¥ +7.
2) Use the distributive property to simplify the following:
a) 6(x + 2) b) —2(x —3)
Cx 1 “2xHE.
3) Evaluate the following expressions for the given values. :
a)6x + 7y —2x;usex = —landy =3 b) —2x + 7y ~2x;usex = —landy =3
€ 142 201+

<& A5
4) Simplify the following expressions by combining like terms.
a) 5x +4y + 7y — 3x 2 x _{_;{/\/f
PCD sl

VIC=D=Tx Iy foTe  _y

5) What are the two things required to have like terms? The same [ {f=~ and (s_,t;@x;g/f,yi_

6) What quadrant is each letter in:

AQ,-5) B(~2,-3)
w A
C(2,0) ﬁi’;‘/ T {‘,’ﬁf D(—4,3)

I




Name: Kf—‘-/

10/14/2016
8" Grade Quiz
1) Solve the following algebra problems. Make sure you show all your work!
a)x+54# 12 |b)x — 6% —10
iy +6 [ +6
X27 . RE
2) Use the distributive property to simplify the following:
a) 9(2x + 4) | b) —4(x — 8)
2 2
18X+ 3¢ —YX 43,
3) Simplify the following expressions:
a) 9x — 5x — 12x | b) —2(2x — 3) + 4x

2 :
~4x :%(/H, tix =[Z ]
4) Find the difference of the following expressions:

a)=5-11 .- b)2+(+12) (g

©)16-16 )=75+ (3 -0

5) a) What are the two things required to have like terms? The same le ##e~ and  exowres i .
b) The letter in an equation is always the 10 abje. ’

6) Solve the following algebra problems. Make sure you show all your work!
DL =355




15 'y
3_73 25
= 27

l‘uply the fol]owmg decimals.

75
4)(1/5) @ | b) (£.25)(+37) 25

2) Use the distributive property to simplify the following:
a)x—48+106 .
+iy| 48 B

3) Simy hfy the foilomg expressions:

a) (2.835) + (=.07) ‘b) —3.64 — 1.3 3.6Y
- 207 2
Y76s iEod

‘EL/ 97 )
4) Find the difference of the following expressions:

a) =81 (#11) = 3 b)20-18 ).
©)-16-16 -3) d)75-90 —i5°

5) Solve the following equations.

6) Solve owing algebra problems. Make sure you show all your work!
b) = = —35,- 5




Name: Ké'/‘

[

11/4/2016
8™ Grade Quiz 3
BA
1) Solve the following algebra problems. _Z
a) 12x + 7 31 yo

X :w (=

2) Solve E;fOIiOWIHg algebra problems.
a) —5(2x +1) =25 \ b) 42

18x + 4(x +5)
[Exy Ux+Ao

pi
4) Fill in the missing blanks for solving any algebra problem.

1) Getrid of  gareathpses.
2) Combine "gg teins.

3) Move o :: «b /e to one side
4y PEm

5) Fill in the missing parts for the following circuit.

8 2.

LA
(O
: %W do
B AAA ANV A Ar—
2268 )




s

Name: Kf{,}/ P
11/10/2016 e
: iy
th
8" Grade Quiz . o
1) Solve the following equations. 7%

a) 12x — 7 + 17 - !b)-l";—25=29 .
17 @ xS 42T X=¢yy¢
. 1Ay=2Y fl’% _._.51""; A

2) Solve thé;kl“(;l‘;l%-)\wing algebra problems.

a) —5(2x + 1) = 25 | ‘b) 42 = 18x + 4(x + 5) N
~0x-5 =28 @ o ? 1Bx 1 4x +20 X=)
T OEST ~A v —20
~loX = 3¢ AL T AAX
3) Sect 3.3 HW questions. Solve the following equations. Show all your work!
a)3x—7=8+6(x+2) b) “Twelve less than —9 times a number is equal

to 8 minus 4 times the number.” (Hint: #26)

X —fkf S~Yx
+Yx +4x

—~bX X

——

esx—7j: 20
2047 .
4) What are the missing steps to so

o TT——
algebra problems? ~SX-12F
a) Get rid of parentheses HI [+
b) (embine [tke Ferms ~$x =20
c¢) Move variable to one side - =
&) PEMPAS

2 &

3) SFct 3.3 HW questions. Solve the following equations. Show all your work!
a) 14x — 93 5 49 — 57x | b) 8x = 2(4x + 2)




Name: k e
11/18/2016”
8" Grade Quiz

1) Write the following inequalities in words.
a)x—4>7 b) 8x < 20

/( miaus Y y/zcrz‘a'/ than 7. & Aemes X is less Alaa
azm:f te o,

2) Graph the following inequalities.

ayx>5 b)x <2 c)—11=x X <& —if
5 :)- -

3) Write an inequality for the following graphs.

a) b)

6 -5
XZ0b X&e=$™

. £
a) Which side should the variable always be on to properly graph an inequality? et

b) When you multiply or divide by a !ﬁ;‘g&" % , youhave to S #¢/.  the inequality sign.

c)
1) Getrid of _ farzattheses.
2) Combine j/'ke  Hdems.

3) Move vu zfie to one side
4 _YEMDAS
 a

5) Solve the following inequalities for the given variable and graph your answers. Be sure to show all
your work!

a)x—5>12 | b) 6x < —108
s 45 - T
17 E— ety — EHA—>
X7 xe=~lg |
(7 =y

6) Solve the following inequalities for the given variable and graph your answers. Be sure to show all
your work!

a)) 6(5 — 2x) > 5x + 13 b) =+ 4 > 22 [
o~ 13x 2 Sx417. SR s T ff
- 4+ 1A 4[)9{ =13 X ) N
g _ - o7 21T (34
17 2 17x ' 74
7 7 . '
X< -2 Y1 C

e |
, GHre—
-2




Name: l(‘e?’
12/2/2016 *
8" Grade Quiz

1) Fill in the blanks for the LCM and GCF chart:

LCM GCF
A)Keep ¢ylf the bases and the fm@‘ je¢s /- exponents.
B) [—E“&/' all the terms and numbers.
C) Keep only the common !Zu ¢es andthe Jowecf
exponents.
d) What does GCF stand for? g-ewtest  Commen  buck,
e) What does LCM stand for? (€aSLt  commen  smal fple.
2) Find the GCF of the following numbers. .. Y
. . G5=5-3
a) 32,28 =S | b) 45,50 t N
2g= 207 so=57

—=) G
3) Find the GCF of the following monomials. 7
a) 14x3, 42x* Myx:= ).7.x3 | b) 8x2,11 gx* =2 x2 |
Dxt= 237 x7 noo= i e
4) Write all the factors of the following numbers. ( ! l
a) 12 L, 39, é, fx | b) 71 | 71

5) Write the prime factorization of each of the following.

3.
a) 63 » A s X3
9y 120
[P
A AN
Y3 25

6) If [ gave you 24 nuts and 18 beads, what is the grea?ést number of groups you could make that would
have the same number of nuts in each group and the same number of beads in each group?

24727 3

b) How many nuts and how many beads would be in each group? 1§=2:2>

Houts  and 2 beculs. A3=e




